pany

N -1
7] % O)ﬂjg‘l— = B o~ i W
H

PRYEROBIE - 5K P
[2rw ]

k

paui
=

ﬁﬂ KOHEELEL x5,

3 2
® B % o = @ 2 . 5 -
8 3
@ixg): @3—8:
15 1l
@LXB: IL—ZZ
2 4
@LXG: li—6:
4 "’
6

(1/10)



L R ‘:\: Voo

TED T E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

@ %?><2 _
® €%><4 _
® {%><2 _
@ —%—x 4 -
@%x7:
@ 17%»<7 -
® 17%»<6 :

®

®

®

2 =2
3
Ty
)
KR
4
12
3
1L o2y
3
IL—B
2
o L -3
4

(2/10)



\\) N
73D

= =1
al A

SRR OB -
(22 ]

H

£
&

1) E

ﬁﬂ KOHEELEL x5,

@

3
7

X

N

2

©

®

®

Sy
[
i_G
5
ER
[
12 -5
7
1L+6
8
1S -3
10
IL—Z
5

(3/10)



/\\; ‘:\: Voo

7D E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

@ g%><2 _
® €§><6 _
@1_25><5:
@ _g_x 3 -
© —%-x 4 -
®2L><5:
® 1{}x g =

®

®

®

= =3
9
3 g
8
2 L,
3
1
3— — 5
2
li+6
7
1L+8
9
1Ly
7

(4/10)



L R ‘:\: Voo

TED T E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

®i><4:
9

® 3 w9 =
8

®i><5:
"/

© 5 w14 -
"/
It

® 2%><1o:

®

(5/10)



rei

N % >

7D E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

@ ixg =
16

® 1 « o =
4

® ° x4 =
42

@ ixg =
10
8
8

® 2%><12:

®

=5
7
g
32
R
9
1-C +3
15
li—12
9
li—Z
16
li+6
7

(6/10)



L R ‘:\: Voo

TED T E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

@ ixz =
21
® 1 « 3 =
9
® 1 w4 -
36
@ LX? =
9
6
)
6

(7/10)



L R ‘:\: Voo

TED T E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

@ ixg =
14

® ° w3 =
24

® 1 «g =
12

@ ixg =
4

©® 3 w g =
4
)

® 1%><1o:

®

®

®

L+ 14
12

2 15
14

7.5
3

12 4
7

R
3

17
9

1L o5
4

(8/10)



L R ‘:\: Voo

TED T E

SR EROBIE - 2 E
(v ]

B xostgzrziss,

@ ix 2 =
15
® 3 «wg =
32
® 1 w4 -
30
@ ix 5 =
9
©® 1 ¢4 =
2
6

®

®

®

(9/10)



/\\; > N
Dt E
H

SRV EROBIE - B A
(22 ]

B xostgzrziss,

@ iX6 =
25
® 2 «w g =
27
® 2w =
32
@ LX? =
9
@ 3 o1 =
"/
9
® 47 » 4 -
10

=7
8

6
5

28 . 4o -

15

S
)

2L —14
3

1L - 3
6

2i —12
3

(10/10)



/\\; > Voo s >
TEDIFTTHEHDEK Z

KOHEELEL x5,

© 1 o - 2 @ 1 . 5 _ 1
3 3 10
® 3 o = 3 @ 2 . 9 - L
8 4 3 3
® 2 x5 = 2 ® 2 . g - L
15 3 7 28
2 2 4 8
4 2 It 21

4 4 6 24
6 2 ) 5

(1/10)



/\\) ‘:\: Voo x>z
TEDIFTTHEHDEK Z

KOHEELEL x5,

5 5 3 6

® 1 w4 = 2 @ ., - O
6 3 5 20

® B x o = 3 ® 9 . 5 - 3
14 1 4 4

7 7 3 6

7 3 3

2 2 2 10

®
Do

(2/10)



\\) N
73D

~J

N

©

®

®

Sy
[
i_6
5
ER
[
12 -5
7
1 Losg
8
1S -3
10
P
5

(3/10)



/\\) ‘:\‘_ Voo x>z
TEDIFTE DK Z

RO#EELEL LI,

7 7 9 27

® 1 g = 3 @ 3 .45 = L
8 4 8 16

® 2 x5 = 2 ® 2 . 5 - L
15 3 3 3

"/ 7 2 10

6 3 7 14

® , 1 w5 2102 ® ;1 .45 _ 10
8 8 9 27

B 12 xg=14" 1%+4:§

(4/10)



/\\) ‘:\‘_ Voo x>z
TEDIFTTHEHDEK Z

KOHEELEL x5,

O 2 x4 = 8
9 9

7 7
® ° %14 = 10
7
L v = 56
7 7
1 2

® 5

— X 10 = 21 —
6 3

®

®

(5/10)



/\\; > Voo gt o
TEDIFTE DK Z

® 3 5 . 9 ®@ 3 . _ 3
16 16 "’ 35
® 1y, o L @ 7 .5 _ T
4 2 32 96
® 5 54 . 10 ® 8 . . 4
42 21 9 27
@ 9 a1 ® ;7 4. 22
10 10 15 45

4 9
® 1 Lys. 43  ® ;53 ., 19
8 16 32
B 92 qpongl @2 g 3
9 3 7 14

(6/10)



/\\; > Voo gt o
TEDIFTE DK Z

® 8 o - 16 @ 13 . - _ 13
21 21 12 84

® 1 g - L @ 9 . g - 35
9 3 8 8

® w44 = _ ® 4 . g - L
36 9 3 6

9 9 12 72

3 3 15

5 14 42

(7/10)



/\\; > Voo gt o
TEDIFTE DK Z

® 3 w3 - 9 @ 7T 4= 1
14 14 12 24
® ° w3 - 9 @ ° .15- L
24 8 14 42
® 1 g - 2 © 7T . - 7
12 3 3 15

4 4 7 28

4 2 3 3

® 1 2w4.:3  ®;1 .,_10
5 9 63

5) 4 12

(8/10)



/\\; > Voo gt o
TEDIFTE DK Z

© 4 o5 - 8 @ T .5 -
15 15 15 45
® 3 wg = 5 @ 5 .99 = L
32 4 12 48
® T w4 =11 ® 15 . 4 - 5
30 15 28 84
9 9 7 35
2 ) 15

4 4 8 56
6 2 It "’

(9/10)



/\\; > Voo gt o
TEDIFTE DK Z

® 3 wg = 18 @ 9 . 7 - 9
25 25 8 56

® 2 wg = % @ 6 . g - 3
27 9 5 20

® 5 xwg = 1o ® 28 . 19 -
32 16 15 4

9 9 5) 25

7 3 6

9 9 6 18

10 o 3 9

(10/10)



	kakewari-14-2
	kakewari-14-2a

